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. Q8- Use Mesh Analysis to find the value of i in the AMAA
shown circuit.
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Q9- Find i, in the shown circuit with an appropriate
method (Mgh or Nodal analysis). '
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Midterm Exam _ Electrical Engineering” Time: 1 Hr, 40 Min
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o This exam is closed book and notes. : :
« Read all of the questions before starting (Total of 100 points). :
« Don't write anything on this exam sheet. Solutions must be on the answer sheet.

Q1. [18 points] Use mesh analysis in the circuit below to calculate vy. DON'T solve
the equations you obtaini; just write them in their final form.
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aﬁb) Q2. [18 points] Use sup erposition in the ciciit below to calculate the current 1.
#

IMPORTANT: During your solution, you can only use current division, voltage
division, Ohm's law, KCL and KVL, parallel and series combinations.
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Q3. [18 points] Use source transformation in the circuit below to find the value of
the voltage v, given thati=2 A. : i
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J28 points]T - . /77 - -4 .

a) Find the Thevenin Equivalent of the circuit below as seen by the resistor R.
IMPORTANT: You must use nodal analysis to analyze the circuit as you
evaluate the Thevenin Equivalent. Use the provided reference point.

(b) Calculate the maximurm power that can be delivered from the circuit to R.
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points] Use only current division, voltage division, Ohm's law, KCL and KVL,

patallel and series combinations to find the voltage between node'b and the ground.

(Do NOT use nodal analysis, mesh analysis, superposition or source transformation).
S 850 Lo ' .
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e

voltage division, Ohm's law, KCL and
alyze the following circuit (i.e., do NOT

’,?g\ _’Qj,g[lo points] T Tse only current division,
5 L
ation). Find:

KVL, parallel and series combinations to an

use nodal analysis, mesh analysis, superposition or souice transform
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;}L (24 marks) In the cirenit shown below find the sowrce voltageV, and the
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e - mesh equations in their final form as a function of the
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erposition. In the process of your
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Question 4. (24 Marks) Use nodal analysis to find the Norton equlvaient clrcuit with - o -

respect to terminals g and 4 of ﬂle c1rcu1t shown below.
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Question 5. (18 Marks) Use source transformation as many times as neéded to find |
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rmations to find iy in the following circuit.
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